### 11-1

# Section II - DAIRY PRODUCE

BUTTER, DRIED MILK, CHEESE, HAMS, BACON, AND LARD.

# Index to Exhibitors Section 10.—AGRICULTURE.

Black, R. C. and J. T., Braemar, Greenethorpe, N.S.W.

Border, J. and I. Z., Derra, Baradine, N.S.W. Boyle Bros., Lake Goldsmith, Beaufort, Vic. Brown and Davidson, Gambarra, Greenethorpe,

Brown, J and R., Yarran Clump, Narrabri, N.S.W.

CARROLL, J., Corowa, N.S.W.

Central N.S.W. District Exhibit, c/o. S. V. E. Merton, 23 Commerce-st., Taree, N.S.W. Chittick, A. R., Ellerslie, Kangaroo Valley, N.S.W. Coddington, H. S., Invergowrie, Young, N.S.W.

DIEKMAN, F. G., 49 Lofberg-rd., West Pymble, N.S.W.

Dowling, A. E., Eschol, Dubbo, N.S.W.

EMERY, B., Wogomia House, Nowra, N.S.W.

FINLAY, E. J., Gillarimba, Boggabri, N.S.W. Fuzzard, A., and J. Daunt, R.M.B. 7, Gubbata, N.S.W.

GARANGULA, Pty. Ltd., Garangula. Harden,

Grady, R. M., and Son, Currajong Park, Gunningbland, N.S.W.

HAYNE, K. I., 10 Violet-st, Narrabri, N.S.W

Hayne, V., 10 Violet-st., Narrabri, N.S.W.

Heblton, J. K., Three Springs, W.A. Heckendorf, H. J., and Sons, Topreeds, Narrandera, N.S.W.

Hobday, E. W. and H. L., Milton-Vale, Narrabri, N.S.W

Hybia Pastoral Co., Maryvale, Biniguy, N.S.W.

IRVIN, F., Corrumbene, Barellan, N.S.W.

KENDALL, J. H., Miarb, The Rock, N.S.W.

LAVIS, G. A., Rewlee, Bodalla, N.S.W. Lavis, N. J., Bodalla, N.S.W. Lavis, R. J., Rewlee, Bodalla, N.S.W. Louttlt, A. R., and M. B., Mullenderree, Moruya,

McCLELLAND, J. J., Shoalhaven-st., Klama, N.S.W. McCutcheon, A. H., and D. W., Clamaltha, Narra-

brl, N.S.W. McDonald, N., Ulva, Mulwala, N.S.W.

McGowan, R. D., Nloka, Durl, N.S W. McGowan, V. B., Lindfield, Winton, Durl, N.S.W. Worcester, J. G., Chester, Manilla, N.S.W.

BEGAN BEGAN PASTORAL CO., Harden, N.S.W. McLeod, R., and E. Bruce, Wallaroobie, Beckom, N.S.W.

Mahlo, C. B. and P. B., Driftwater, Old Grenfell-rd., Forbes, N.S.W.

Makeham, M. A., Yellow Plain, Gaspard-rd., Quirindi, N.S.W.

Maynard, J., and Son, Willydah, Narromine, N.S.W. Milifield Pastoral Co., Millfield, Narrabri, N.S.W. Moreton and Downs, Q'ld. District Exhibit, c/o. B. Haag, Teviotville, Fassifern Line, Q'ld. Myee Pastoral Co., Myee, Pallamallawa, N.S.W.

NORTHERN NSW. DISTRICT EXHIBIT, P.O. Box 96, Tenterfield, N.S.W.

PARKER, F., 14 Findhorn-st., Crookwell, N.S.W. Plowman Bros., P.O. Box 123, Parkes, N.S.W. Purves, T. L., 3 Allison-st., Dubbo, N.S.W.

RAWSON, L. C., Claris Park, Trundle, N.S.W. Reynolds and Co., Burrawong, Cumnock, N.S.W. Ritter, C. G., Bowman Farm, Gloucester, N.S W. Ross and Worboys, Ringwood, Gunnedah, N.S.W. Rowlands, F. C., and Sons Pty., and R. Denzil, Werrlbee, Waugoola, N.S.W.

SCANES, J. K., Raglan P.O., N.S.W. Scattergood, A. H., 3 Gerald-st., Queanbeyan, N.S.W.

Scifleet, N. J., and G. J., Amaroo, Binnaway, N.S.W.

Simson, N., Nowley, Spring Ridge, N.S.W.

Smart, L., Cawdor, Camden, N.S.W.

Southern N.S.W. District Exhibit, c/o, E. Alps, Lakesland, Picton, N.S.W.

Stitt, L. M., 22 York-st., Taree, N.S.W.

Stitt. R. A., Wingham-rd., Taree, N.S.W.

TAYLOR, R H., 25 Denison-st., Mudgee, N.S.W. Tout, F. H., and Co., and E. M. Kupkee, Uah, Forbes, N.S.W.

Townsend, S. R., Mount Carmel, Wellington, N.S.W. Troy, E. H. A., Ostenleigh, Quandialla, N.S.W.

Troy, V. W. R. R.M.B. 121, Quandialla, N.S.W.

UBRIHIEN BROS., P.O. Box 165, Bega, N.S.W.

Uebergang, N. V. and S. N., and Co., Blue Nobby Station, North Star, N.S.W.

Unger, M. P., Stony Hill, Alectown, N.S.W.

WALL, J. W., and Son, Stoney Creek, Narrabri, N.S.W.

Walsh, F. C., and W. C. Shields, Nianbah, Armatree, N.S.W.

Western N.S.W. District Exhibit, c/o. P. Bushell, 68 The Terrace, Windsor, N.S.W. White Bros., Braymont, Boggabri, N.S.W.

Whiteman, F. J., Woodville, Narrabri, N.S.W.

Committee:

R. W. Hewett Lt.-Col. T. E. Irwin F. A. McIntosh

H. C. M. See G. F. Shirley E. A. Southee

Stewards:

R. W. Moore

A. K. Potts

C. Ubrihien

H. Perrott

A. B. Shelton

B. F. Hussey

Steward-in-Chief:

J. R. Graham

Assistant Steward-in-Chief:

E. A. Southee

General Stewards:

N. P. Judd A. Walker

BUTTER.

Judges:

(Local Consumption): C. W. Lattimore. Department of Agriculture, N.S.W.,

J. R. Graham (Chairman)

W. A. Chaffey R. J. F. Downes

Sydney.

(Export Butter): R. C. Hottes. Department of Primary Industry,

Margaret-st., Sydney.

Margaret-st., Sydney. O. K. Belford. Department of Primary Industry,

(Royal Export):

Department of Commerce and Agriculture London.

JUDGING DAT.

Unless otherwise stated the judging of Dairy Produce exhibits will commence at 9 a.m., Thursday, 7th April.

PAVILION OPEN TO PUBLIC.

The Dairy Produce Pavilien will be open to the public daily from 9 a.m. to 10 p.m., except Monday, 11th, and Good Friday, 15th April, on which days the Pavilion will close at 6 p.m.

TROPHIES ON DISPLAY.

Trophies offered for competition in the Dairy Produce Section shall be on display in the special windows provided for the purpose in the Society's General Showground Office.

SPECIAL DAIRY PRODUCE REGULATIONS.

Exhibitors are reminded that the Society's General Regulations apply to all sections of the Show and that the Special Regulations hereunder set out which apply to this section only are merely supplementary to the General Regulations.

BUTTER.

Butter MUST be manufactured at the factory or branch factory in which name each entry is made. Only one entry may be made by each factory or branch factory in each class.

Butter in all classes to be made from pasteurised cream and no preservative other than sait to be added. All butter exhibited may be subject to analysis.

BOXES.

All butter specially manufactured and prepared for exhibition purposes, must be packed in PLAIN STANDARD LOCAL BOXES (BRANDED BOXES NOT PERMITTED).

All exhibits for Classes 2 to 8 to be addressed to the Director, Royal Agricultural Society of N.S.W., c/o. Wateraide Cold Stores Pty., Ltd., 18 Points-t., Pyrmant, Sydney, and must be in cold store as stated in each class.

Exhibitors failing to observe this Regulation are liable to disqualification.

For purposes of identification a label, bearing the full name of the exhibitor (Factory) together with full particulars at the class for which the exhibit is intended, must be securely affixed to the lid of each box before it is wrapped in the protecting cover. Similar particulars regarding the identification of exhibits must also be sewn on the protecting entered.

The surface of the butter must be impressed with the Australian Roller Brand.

An exhibitor who may desire to go through the exhibits with the judge, after judging day, shall make an appointment through the Steward-in-Chief or the Director.

CLYDE INDUSTRIES LTD. — growing with Australia . . . helping Australia grow.

### Sec. 11-DAIRY PRODUCE-Butter (Continued).

### Arrival and Departure of Exhibits

Butter for classes as hereunder mentioned must be addressed to the Director, Royal Agricultural Society of N.S.W., a/o. Waterside Cold Stores Pty., Ltd., 10 Point-st., Pyrmont, Sydney, and be desivered not later than the dates shown.

Class 2-Monday, 21st December. Classes 8 and 4-TUESDAY, 1st DECEMBER.

Class 6-Thursday, 18th February.

Class ?- Wednesday, 23rd March. Class 8- Monday, 28th March.

required when collection is being made by an agent.

Cimes 5--1uesday, Zoin January.

Class 8--Monday, Zoin March.

Delivery or butter will be made not later than 5 p.m. on Wednesday, 20th April. A delivery order from the factory is

Storage of Export Butter.

All exhibits for storage will be placed in cool chamber and kept at a temperature not exceeding 20 degrees. The exhibits will be removed from Cold Store to Showground after judging.

Unclaimed Exhibits.

All exhibits unclaimed on Wednesday, 20th April, will be sent to an agent and sold; the proceeds, less expenses, will be

### SCALE OF POINTS FOR JUDGING BUTTER.

(Other than Print Butter Cines).	Points
FLAVOUR AND AROMA: Should be clean and mild	50
TEXTURE: Includes body, grain and moisture incorporation	80
CONDITION: Includes saiting, colour, packing and finish	 20

8	CALE	OF	P	OIN	TS F	OR	JUD	GING	BUT	TER	(PRIN	IT BU	TTER		
															oints
	FLA	VOU.	R A	ND	ARO	MA:	Shou	ld be	clear	and	mild				50
	TEX'	TUR	E: I	nelu	ides t	oody.	grain	and	mois	ture i	ncorpo	ration			80
													iven <b>ess</b>		
															20
															-
													TOT	AL	100

### MOST SUCCESSFUL EXHIBITOR PRIZES.

MOST SUCCESSFUL EXHIBITOR PRIZES.

(Dried Milk, Cheese, and Bacon Curer.)

The most successful exhibitor prizes in this Section shall be determined as follows, viz.:—Only exhibitors with three or more exhibits shall be considered for this prize. The total number of points awarded to each exhibit by the Judge shall be divided by the total number of entries made by the exhibitor and to the result obtained shall be added the following points, viz.:—Three for each first prize, two for second, and one for third; the exhibitor gaining the highest result shall be the winner. Should two or more exhibitors gain an equal number of points, the Most Successful Exhibitor Prize will be awarded to the exhibitor gaining the greatest number of first prizes. Should the points still be equal the number of third prize will be taken into account in determining the prize. ber of second prizes, and if necessary the number of third prizes will be taken into account in determining the prize. In the case of a maker (Dried Milk, Cheese, and/or Bacon Curer) who exhibits in the names of two or more factories. each factory will be regarded as a separate and distinct exhibitor.

CLASS 1—CONTINUOUS GRADING CLASS FOR BUTTER (LOCAL CONSUMPTION)-Special Prizes, £40, viz.: First, £20; second, £12 10s.; third, £5; fourth, £2 10s. £5 or a cup or trophy will be presented to the respective butter-makers of the factories securing the first, second, third and fourth prizes. The factories shall nominate, on the certificate of entry, the recipients (butter-makera) of the prize money, cups, or trophies.

### CONDITIONS

- 1. The competition is for salted or unsalted butter on the local market in N.S.W.
- 2. The Grading Period will cover seven months, viz.: - March and April, 1959, followed by the period October, 1959, to February, 1960, inclusive. From the consignments during the month of February, one box may be taken for exhibition at the Show.
- 3. Every factory competing must grade officially at least 85 per cent of its production as choicest quality.
- 4. The official grading by the State Officers of all the registered choicest brands of factories entered for this competition will be taken each month for the full period and results worked out by taking the actual mean average in which the number of boxes in each consignment, together with the grading points, is taken into account.

- 5. At least four gradings must be recorded each month including at least four churnings, representing at least two vats of cream in each grading during the period of the competition. A competitor who falls to comply with this condition will automatically become ineligible for the prizes.
- 6. The grading points allotted by the State Graders will be taken for the full period and a box average established by dividing the total of the points allotted to each consignment by the total number of boxes graded, and the exhibits obtaining the highest box averages will be awarded the prizes.
- 1. Bega Co-op, Society, Ltd.
- 2. Bellinger River Co-op. Butter and Bacon Society, Ltd.
- 3. Casino Co-op. Dairy Society, Ltd.
- 4. Clarence River Pioneer Co-op. Dairy Co., Ltd.
- 5. Cobargo Co-op. Society, Ltd.
- 6. Comboyne Rural Co-op. Society, Ltd.
- 7. Dorrigo Co-op. Dairy Co., Ltd.
- 8. Macleay River Co-op. Dairying Co., Ltd.
- 9. Manning River Co-op. Dairy Society, Ltd.
- 10. Nambucca River Co-op. Society, Ltd.
- 11. Norco Co-op., Ltd. (Bonalbo).
- 12.2 Norco Co-op., Ltd. (Byron Bay).
- 13. Norco Co-op., Ltd. (Kyogle).
- 14. Norco Co-op., Ltd. (Lismore).
- 15. Norco Co-op., Ltd. (Murwillumbah).

### IT'S ALWAYS CHEAPER COLES

11---3

## Sec. 11-DAIRY PRODUCE-Butter (Continued).

- 16. Nowra Co-op. Dairy Co., Ltd.
- 17. Pambula Co-op. Creamery and Dairy Co., Ltd.
- 18. Peters Creameries Pty., Ltd.
- 19. South Wolumla Co-op. Creamery Co., Ltd.
- 20. Upper Macleay Co-op. Dairying Co., Ltd.
- 21.3 Wingham Rural Co-op. Society, Ltd.
- CLASS 2-Butter, salted, 1 package, not less than 56lb. Manufactured and packed ready for storage for local consumption. The butter will be judged on arrival at Cold Store. prior to being placed in storage, and again prior to the Show. The factories gaining the greatest aggregate of both judgings will be awarded the prizes. Exhibits to be in Cold Store by Monday, 21st December, Prizes-First, £10; second, £5; third, £3.
- 22. Bega Co-op. Society, Ltd.
- 23. Casino Co-op. Dairy Society, Ltd.
- 24. Clarence River Pioneer Co-op. Dairy Co., Ltd.
- 25. Cobargo Co-op. Society, Ltd.
- 26. Comboyne Rural Co-op. Society, Ltd.
- 27. Dorrigo Co-op. Dairy Co., Ltd.
- 28. Downs Co-op. Dairy Assoc., Ltd. (Clifton).
- 29. Downs Co-op. Dairy Assoc., Ltd. (Crow's Nest).
- 30. Downs Co-op. Dairy Assoc. Ltd. (Jandowae).
- 31. Downs Co-op. Dairy Assoc., Ltd. (Toowoomba).
- 32. Drouin Co-op. Butter Factory Co., Ltd.
- 33. Gloucester Co-op. Dairy Co., Ltd. 34. Grafton Co-op. Dairy Co., Ltd.
- 35. Hawkesbury Agricultural College. 36. Macleay River Co-op. Dairying Co., Ltd.
- 37.3 Manning River Co-op. Dairy Society, Ltd. E 65.3 Manning River Co-op. Dairy Society, Ltd. 38. Maryborough Co-op. Dairy Assoc., Ltd.
- (Kingaroy). 39. Maryhorough Co-op. Dairy Assoc., Ltd (Wondai).
- 40. Nambucca River Co-op. Society, Ltd.
- 41.2 Norco Co-op., Ltd. (Bonalbo).
- 42. Norco Co-op., Ltd. (Byron Bay).
- 43. Norco Co-op., Ltd. (Kyogle).
- 44. Norco Co-op., Ltd. (Lismore).
- Norco Co-op., Ltd. (Murwillumbah)
- 46. North Eastern Dairy Co., Ltd. Nowra Co-op. Dairy Co., Ltd.
- Pambula Co-op. Creamery Co., Ltd.
- 49. Peters Creameries Pty., Ltd.
- Port Curtis Co-op, Dairy Assoc., Ltd.
- South Wolumla Co-op. Creamery Co., Ltd.
- Upper Macleay Co-op, Dairying Co., Ltd.
- 53. Wingham Rural Co-op. Society, Ltd.
- ROYAL SPECIAL EXPORT BUTTER PRIZES.

# CLASS 3-Butter, salted, 2 packages, not less than

- 56lb. each. Manufactured and packed ready for export. Prizes-First, £10; second, £5; third, £2.
- (a) One box to be staged and judged at the Show, the other box to be forwarded to London and judged there. Points for both judgings, in Sydney and London, to be E 3 85.2 Dorrigo Co-op. Dairy Co., Ltd.

- added and the prizes awarded to the factories obtaining the highest aggregate points, after points for consistency are taken into account.
- (b) Points for consistency in grading will be reconciled by deducting from the aggregate points obtained any points allotted by the judges under the standard of choicest-93 points, e.g., if a butter is awarded 92 points, one point is deducted from the aggregate.
- (c) Butter to contain a minimum of 15 per cent of water and not to contain any preservative other than salt.
- (d) Butter must be in plain standard local boxes (branded boxes not permitted). For purpose of identification each box to bear a label stating name of exhibitor and number of class to be competed for. Labels will be removed after boxes have been numbered and registered.
- (e) The butter will, after judging, be sold on factories' account and returns sent to individual factories by the Society.
- 54. Bega Co-op. Society, Ltd.
- 55. Casino Co-op. Dairy Society, Ltd.
- 56. Cobargo Co-op. Society, Ltd.
- 57. Comboyne Rural Co-op. Society, Ltd.
- 58. / Dorrigo Co-op. Dairy Co., Ltd.
  - 59. Downs Co-op. Dalry Assoc., Ltd. (Clifton).
  - 60. Downs Co-op. Dairy Assoc., Ltd. (Crow's Nest). 61. Downs Co-op. Dairy Assoc., Ltd. (Jandowae).
- 62./ Downs Co-op. Dairy Assoc., Ltd. (Toowoomba).
  - 63. Drouin Co-op. Butter Factory Co., Ltd.
  - 64. Hawkesbury Agricultural College.

  - 66. Maryborough Co-op. Dairy Assoc., Ltd (Kingaroy).
  - 67. Maryborough Co-op. Dairy Assoc., Ltd. (Wondai).
- 68. Nambucca River Co-op. Society, Ltd.
- 69. Norco Co-op., Ltd. (Bonalbo),
- 70. Norco Co-op., Ltd. (Byron Bay).
- 71. Norco Co-op., Ltd. (Kyogle).
- 72. Norco Co-op., Ltd. (Lismore). FQ 73.3 Norco Co-op., Ltd. (Murwillumbah).
  - 74. North Eastern Dairy Co., Ltd.
  - 75. Nowra Co-op. Dairy Co., Ltd.
  - 76. Peters Creameries Pty., Ltd.
  - 77. Port Curtis Co-op. Dairy Assoc., Ltd.
  - 78. South Wolumla Co-op. Creamery Co., Ltd.
  - 79. Upper Macleay Co-op. Dairying Co., Ltd. 80. Wingham Rural Co-op. Society, Ltd.
  - CLASS 4-Butter, unsalted, 2 packages, not less than 56lb. each. Manufactured and packed ready for export. Prizes-First, £10; second, £5; third, £2.

### Conditions similar to Class 3.

- 81. Bega Co-op. Society, Ltd.
- 82. Casino Co-op. Dairy Society, Ltd.
- 83. Cobargo Co-op. Society, Ltd.
- 84. Comboyne Rural Co-op. Society, Ltd.

A Member of the Clyde Industries Group of Companies

# 1960 ROYAL EASTER SHOW - SECTION 11 - CLASS 1.

AWARD		FACTORY	Boxes	MARCH Grading Points	Aver-	Boxes	APRIL Grading Points	Avera
	1.	Bega Co-op. Society, Ltd.	2283	212,591	93.12	2907	270,614	93.09
	2.	Bellinger River Co-op. Butter and Bacon Society, Ltd.	1872	173,913	92.90	1069	99,113	92.72
	3.	Casino Co-op. Dairy Society, Ltd.	10317	958,198	92.88	7239	674,870	93.23
	4.	Clarence River Pioneer Co-op. Dairy Co., Ltd.	2025	189,212	93.44	1735	162,636	93.74
	5.	Cobargo Co-op. Society, Ltd.	1496	140,094	93.65	2158	200,694	93.00
	6.	Comboyne Kural Co-op. Society, Ltd.	1228	114,098	92.91	855	79,515	93.00
1ST	7.	Dorrigo Co-op. Dairy Co., Ltd.	3617	337,519	93.32	3021	282,971	93.67
	8.	Macleay River Co-op. Dairying Co., Ltd.	2125	196,945	92.68	991	91,830	92.66
	9.	Manning River Co-op. Dairy Society, Ltd.	1870	173,910	93.00	790	73,470	93.00
	10.	Nambucca River Co-op. Society, Ltd.	4062	376,315	92.64	2384	221,712	93.00
	11.	Norco Co-op., Ltd. (Bonalbo)	1396	129,374	92.67	882	81,754	92.69
<b>2N</b> D	12.	Norco Co-op., Ltd. (Byron Bay)	10731	999,224	93.12	6322	591,398	93.55
	13.	Norco Co-op., Ltd. (Kyogle)	9981	929,423	93.12	7910	738,550	93.37
4TH	14.	Norco Co-op., Ltd. (Lismore)	21663	2,020,802	93.28	15751	1,464,843	93.00
	15.	Norco Co-op., Ltd. (Murwillumbah)	8180	761,035	93.04	4453	414,129	93.00
+		Nowra Co-op. Dairy Co., Ltd.	895	83,235	93.00	_	_	_
	17.	Pambula Co-op. Creamery and Dairy Co., Ltd.	770	71,513	92.87	1011	93 <b>,7</b> 96	92.78
		Peters Creameries Pty., Ltd.	8061	751,597	93.24	5422	504,167	92.99
		South Wolumla Co-op. Creamery Co., Ltd.	1048	97,426	92.96	897	83,400	92.98
	20.	Upper Macleay Co-op. Dairying Co., Ltd.	656	60,689	92.51	_	_	_
<b>3R</b> Ü		Wingham Rural Co-op. Society, Ltd.	2562	238,126	92.95	2603	242,462	93.15

	OCTODED			NOVEMBER			DECEMBER	
Boxes	OCTOBER Grading	Aver-	Boxes	Grading	Aver-	Boxes	Grading	Aver-
DONES	Points	age		Points	age	DOXCO	Points	age
1971	182,687	92.69	3298	306,413	92.91	3586	334,191	93.19
2424	225,294	92.94	2305	214,098	92.88	2169	201,748	93.01
10045	935,567	93.14	8522	794,084	93.18	16805	1,566,672	93.23
2262	209,447	92.59	3081	286,749	93.07	2585	241,078	93.26
2346	218,178	93.00	3196	297,228	93.00	2182	202,946	93.01
1234	114,762	93.00	826	75,808	91.78	1135	103,854	91.50
22%	215,754	93.89	3174	298,356	94.00	3012	281,660	93.51
2493	231,462	92.84	2728	253,587	92.96	2933	272,769	93.00
2945	273,052	92.72	3682	342,426	92.00	4978	463,373	93.08
3456	321,200	92.94	44.08	409,944	93.00	3698	343,914	93.00
1156	107,493	92.99	1318	122,541	92.97	2132	198,276	93.00
7603	714,272	93.95	8206	768,265	93.62	11908	1,116,402	93.75
12587	1,174,084	93.28	11762	1,096,666	93.24	4190	392,450	93.66
19113	1,783,037	93.29	25520	2,373,343	93.00	38145	3,570,222	93.60
6435	596,675	92.72	7300	678,040	92.88	11642	1,078,430	92.56
	-	-	-	_	_	- Constitution		
886	82,391	92.99	1238	114,666	92.62	2016	187,297	92.91
15710	1,461,865	93.05	14989	1,391,516	92.84	14716	1,367,928	92.96
1910	177,009	92.67	1339	124,319	92.84	2291	213,063	93.00
_			_			-	-	_
33 <b>7</b> 8	314,774	93.18	2864	268,527	93.76	3847	359,175	93.36

- 6

袋

Boxes	JANUARY Grading Points	Aver-	Boxes	FERRUARY Grading Points	Aver- age	Total Boxes	Total Grading Points	Aver-
3448	320,508	92.95	3449	320,522	92.93	20942	1,947,526	93.00
2524	234,498	92.91	1943	179,938	92.61	14306	1,328,602	92.87
15872	1,479,892	93.24	12044	1,122,127	93.17	80844	7,531,410	93.16
2417	224,675	92.96	2624	243,926	92.96	16729	1,557,723	93.12
3295	306,302	92.96	2437	226,484	92.94	17110	1,591,926	93.04
1637	151,333	92.44	884	81,083	91.72	7799	720,453	92.38
4917	458,653	93.28	3737	347,421	92.97	23776	2,222,334	93.47
3028	281,308	92.90	3347	310,626	92.81	17645	1,638,527	92.86
3350	311,550	93.00	2132	198,276	93.00	19747	1,836,057	92.98
4816	447,370	92.89	2094	193,795	92.55	24918	2,314,250	92.87
1988	184,596	92.86	1447	133,830	92.49	10319	957,864	92.83
12318	1,145,406	92.99	7748	720,010	92.93	64836	6,054,997	93.39
-				and the same		ampatina		_
32213	2,995,809	93.00	19047	1,771,371	93.00	171452	15,979,427	93.20
8252	764,256	92.61	7673	712,194	92.82	53935	5,004,759	92.79
	-	_					-	_
1523	141,172	92.69	1219	112,263	92.09	8663	803,098	92.70
16432	1,526,1%	92.88	9376	871,610	92.96	84706	7,874,879	92.97
1640	152,487	92.98	1219	113,281	92.93	10344	960,985	92.90
	_	_	_	_			_	_
4900	455,936	93.05	2516	233,988	93.00	22670	2,112,988	93.21

### Sec. 11-DAIRY PRODUCE-Butter (Continued).

	87.	Downs Co-op. Dairy Assoc., Ltd. (Crows
		Nest).
		Downs Co-op, Dairy Assoc., Ltd. (Jandowae).
	89.	Downs Co-op. Dairy Assoc, Ltd. (Too-
		woomba).
		Drouin Co-op. Butter Factory Co., Ltd.
		Hawkesbury Agricultural College.
(i		Manning River Co-op. Dairy Society, Ltd.
-	93.	Maryborough Co-op. Dairy Assoc., Ltd.

86. Downs Co-op. Dairy Assoc., Ltd. (Clifton).

94.	(Kingaroy).  Maryborough (Wondai).	Co-op.	Dairy	Assoc.,	Ltd	

94.	Maryborough	Co-op.	Dairy	Assoc.,	Litt
	(Wondai).				
95.	Nambucca Riv	er Co-op.	Society	, Ltd.	
96.	Norco Co-op.,	Ltd. (Bor	nalbo).		

	210200			
97.	Norco	Co-op.,	Ltd	(Byron Bay).
98.	Norco	Co-op.,	Ltd.	(Kyogle).

99.	Norco	Co-op.,	Ltd.	(Lismore).
100.	Norco	Co-op.,	Ltd.	(Murwillumbah).

100.	Norco	Co-op.,	140. (2	lurw	mumoan.
101.	North	Eastern	Dairy	Co.,	Ltd.

102. Nowra Co-op. Dairy Co., Ltc. 103. Peters Creameries Pty., Ltd.

Port Curtis Co-op. Dairy Assoc., Ltd. Upper Macleay Co-op. Dairying Co., Ltd.

106. Wingham Rural Co-op. Society, Ltd.

The "ORIENT LINE JUBILEE COMMEMORA-TION AWARD FOR EXPORT BUTTER"-BRONZE PLAQUE AND £26 5s., presented by the Orient Steam Navigation Co., Ltd., to the Factory securing the highest aggregate points of both judgings for each of the above classes (3 and 4). DURKIGO CO-OF LANDEN CO. -

The butter for London will be shipped per 8.8. "Orion" on WEDNESDAY, 9th DECEMBER, and the results of the judging in London will be cabled, which will enable the final awards to be announced during the 1960 Royal Easter Show.

CLASS 5-Butter, salted, 1 package, not less than 56lb. Manufactured and packed ready for export. Exhibits to be in Cold Store by Tuesday, 26th January. Prizes-First, £7; secona, £3 15s.; third, £1 10s.

107. Bega Co-op, Society, Ltd. Bellinger River Co-op. Butter and Bacon So-

ciety, Ltd. Casino Co-op. Dairy Society, Ltd.

Clarence River Pioneer Co-op. Dairy Co., Ltd.

111. Cobargo Co-op Society, Ltd. 112. Comboyne Rural Co-op, Society, Ltd.

113. Dorrigo Co-op. Dairy Co., Ltd.

Downs Co-op. Dairy Assoc., Ltd. (Clifton). 115. Downs Co-op. Dairy Assoc., Ltd (Crow's Nest).

116. Downs Co-op. Dairy Assoc., Ltd. (Jandowae). 117. Downs Co-op. Dairy Assoc., Ltd. (Too-

woomba). 118. Drouin Co-op, Butter Factory Co, Ltd.

Gloucester Co-op. Dairy Co., Ltd. Grafton Co-op. Dairy Co, Ltd.

121. Hawkesbury Agricultural College. 122. Macleay River Co-op. Dairying Co., Ltd.

Manning River Co-op. Dairy Society, Ltd. Maryborough Co-op. Dairy Assoc., Ltd.

(Kingaroy). 125. Maryborough Co-op. Dairy Assoc., Ltd. (Wondai).

126. Murray Valley Co-op. Dairy Products and Trading Co., Ltd.

127. Nambucca River Co-op. Society, Ltd.

128. Norco Co-op., Ltd. (Bonalbo).

Norco Co-op., Ltd. (Byron Bay). Norco Co-op., Ltd. (Kyogle).

131. Norco Co-op. Ltd. Lismore). Norco Co-op., Ltd. (Murwillumbah).

North Eastern Dairy Co., Ltd.

Nowra Co-op. Dairy Co., Ltd. Pambula Co-op, Creamery Co., Ltd.

Peters Creameries Pty., Ltd. Port Curtis Co-op. Dairy Assoc., Ltd

South Wolumla Co-op. Creamery Co., Ltd. Upper Macleay Co-op. Dairying Co., Ltd.

Wingham Rural Co-op. Society, Ltd.

### BUTTERMAKERS' COMPETITION.

CLASS 6-(Special Prizes)-First, £15; second, £10; third, £7; fourth, £5; fifth, £3. For the maker of the best box of choicest butter, not less than 56lb. Butter to contain a minimum of 15.5 per cent and a maximum of 16 per cent of moisturs; also a minimum of 1.3 per cent and a maximum of 2 per cent of salt. A separate exhibit to be provided for this competition. The entry to be in the name of the maker of the butter; the name of the factory to which the competitor is maker to be stated on certificate of entry; the name of the factory shall not be published until after judging. Exhibits to be in Cold Store by Thursday, 18th February.

157. Noonan, J.

142.	Barron, V.	158.	Noonan, J. O.
143	Brett, T.	159.	Northam, H. G.
144.	Cork, L. G.	160.	O'Connor, W. P.
145.	Dunning, W. J.	161.	Pollock, J.
146	Green, A.	162	Rawson, J G.
147.	Griggs, B.	163.	Rennick, H.
148.	Hall, J.	164.	Russell, T. E.
149.	Hanford G.	165.	Ryan, D.
150.	Hewitt, L. T.	166.	Shaw, P.
151.	Howlett, S. B.	167.	Smith, K. P.
152.	Jarvis, A	168.	Squelch, C.
153.	Kennett, F. G.	169.	Walker, S. N
154,	McCarthy, E.	170.	Wheeldon, J. H.
155.		171.	Williams, C. V.

141. Astbury, K.

156. Moy, R.

CLASS 7-PRINT BUTTER, one box containing not less than 27 and not more than 54 Ib. prints of salted butter. To be printed and packed at the factory and wrapped in the factory's special wrappers. In awarding points for colour the judge shall take into consideration neatness and attractiveness of wrapper. The top layer of each box to be laid flat with the printed side of wrappers uppermost. Exhibits to be in Cold Store not later than Wednesday, 23rd March. Prizes-First, £8; second, £5: third, £2.

172. Bega Co-op. Society, Ltd.

Bellinger River Co-op. Butter and Bacon 173. Society, Ltd.

### IT'S ALWAYS CHEAPER COLES

## Sec. 11-DAIRY PRODUCE-Butter (Continued), and Dried Milk.

174. Comboyne Rural Co-op. Society, Ltd. 175. Dorrigo Co-op. Dairy Co., Ltd.	220
176. Grafton Co-op. Dairy Co., Ltd.	
177. Macleay River Co-op. Dairying Co., Ltd.	222
178. Manning River Co-op. Dairy Society, Ltd.	223
179. Murray Valley Co-op. Dairy Products ar	nd 224
Trading Co., Ltd.	
180. Nambucca River Co-op. Society, Ltd.	Sp
181. Norco Co-op., Ltd. (Bonalbo).	
182. Norco Co-op., Ltd. (Byron Bay).	
183. Norco Co-op., Ltd. (Kyogle).	
184. Norco Co-op., Ltd. (Lismore).	
185. Norco Co-op., Ltd. (Murwillumbah).	
The state of the s	
The state of the s	
Tallet Of Op. Creamery Co., 12td.	
The state of the s	
189. South Wolumla Co-op. Creamery Co., Ltd.	
190. Upper Macleay Co-op. Dairying Co., Ltd	
191. Wingham Rural Co-op. Society, Ltd.	

CLASS 8-Butter, 1 package, not less than 56lb Manufactured for local consumption Exhibits to be delivered not later than Monday, 28th March, to the Cold Store where they will be judged. Prizes-First. £15; second, £10; third, £7; fourth, £5.

192. Bega Co-op. Society, Ltd.

193. Bellinger River Co-op. Butter and Bacon So clety, Ltd.

194. Casino Co-op. Dairy Society, Ltd.

195. Clarence River Pioneer Co-op. Dairy Co-

196. Cobargo Co-op. Society, Ltd. 197. Comboyne Rural Co-op, Society, Ltd.

198. Dorrigo Co-op. Dairy Co., Ltd.

199. Downs Co-op. Dairy Assoc., Ltd. (Clifton). 200. Downs Co-op. Dairy Assoc., Ltd. (Crow's

201. Downs Co-op. Dairy Assoc., Ltd. (Jandowae). CLASS 9-Dried Full Cream Milk (Spray Pro-

202. Downs Co-op. Dairy Assoc., Ltd. (Toowoomba).

203. Drouin Co-op. Butter Factory Co., Ltd.

204. Gloucester Co-op. Dairy Co., Ltd.

Nest).

205. Grafton Co-op. Dairy Co., Ltd. Hawkesbury Agricultural College.

207. Macleay River Co-op. Dairying Co., Ltd

Manning River Co-op. Dairy Society, Ltd. 209. Maryborough Co-op. Dairy Assoc. Ltd.

(Kingaroy). 210. Maryborough Co-op. Dairy Assoc., Ltd. 226. Hunter Valley Co-op. Dairy Co., Ltd.

211. Murray Valley Co-op Dairy Products and Trading Co., Ltd.

212. Nambucca River Co-op. Society, Ltd

213. Norco Co-op., Ltd. (Bonalbo). 214. Norco Co-op., Ltd. (Byron Bay).

215. Norco Co-op., Ltd. (Kyogle). 216. Norco Co-op., Ltd. (Lismore).

217. Norco Co-op., Ltd. (Murwillumbah).

218. North Eastern Dairy Co., Ltd. 219. Nowra Co-op. Dairy Co., Ltd.

0. Pambula Co-op. Creamery Co., Ltd.

1. Peters Creameries Pty., Ltd.

2. South Wolumla Co-op. Creamery Co., Ltd. 3. Upper Macleay Co-op. Dairying Co., Ltd.

4. Wingham Rural Co-op. Society, Ltd.

pecial Prize—£10 10s., presented by the Producers' Co-operative Distributing Society, Ltd., Valentine and Quay-sts., Sydney, for the factory securing the greatest aggregate number of points in all classes and special prizes for butter, provided that the mean average of the Continuous Grading Class be included instead of the aggregate. A separate entry will not be required for this prize. LORRIGO CO-CP. CHIEN CO L TE.

### DRIED MILK.

Judges:	Stewards:
R. C. Hottes,	H. Perrott
Department of Primary	B. F. Hussey
Industry,	J N Salkeld
Margaret-st., Sydney,	
O. K. Belford,	
Department of Primary Industry,	
Margaret-st., Sydney	
To be judged on the follow	wing scale of points

or jungen on	tue	TOHOW	ing sca	le of	point	8:-
* * *					I.	ointe
Flavour						50
Sediment						20
Solubility						10
Packaging	and	Appe	arance			20
Total						100

cess). Packed for export in two UN-BRANDED packages (Polyethylene bags to be supplied by the Society) each containing not less than 7lb. net weight. One bag shall be used for display purposes. Each exhibit to contain not less than 26 per cent butter-fat, not more than 5 per cent moisture, and .18 per cent titratable acidity. Prizes-First, £6; second, £2; third, £1,

225. Co-op. Dairy Assoc. of N.S.W., Ltd.

(Hexham).

Manning River Co-op. Dairy Society, Ltd.

228. North Eastern Dairy Co., Ltd. 229. Peters Creameries Pty., Ltd.

230. Tooralac Milk Products Pty., Ltd.

CLASS 10-Dried Full Cream Milk (Roller Process). Same conditions as Class 9. Prizes-First, £6; second, £2; third, £1.

231. Co-op. Dairy Assoc of N.S.W., Ltd.

232. Manning River Co-op. Dairy Society, Ltd. 233. Peters Creameries Pty., Ltd.

224	Cosino	Co-on	Dairy	Society,	Ltd.
234.	Casino	CO-Op.	LIGHT J	1,0000000	200

235. Co-op. Dairy Assoc. of N.S.W., Ltd.

236. Drouin Co-op. Butter Factory Co., Ltd.

237. Hawkesbury Agricultural College

238. Hunter Valley Co-op. Dairy Co Ltd (Herham).

239. Hunter Valley Co-op. Dairy Co., Ltd. (Muswellbrook).

240. Manning River Co-op. Dairy Society, Ltd

241, North Eastern Dairy Co., Ltd.

242. Peters Creameries Pty., Ltd.

243. Tooralac Milk Products Pty., Ltd.

### CLASS 12-Dried Skimmed Milk (Roller Process). Same conditions as Class 11. Prizes-First, £6; second, £2; third, £1.

244. Casino Co-op. Dairy Society, Ltd.

245. | Co-op. Dairy Assoc. of N.S.W., Ltd.

246. Hawkesbury Agricultural College.

247. Manning River Co-op. Dairy Society, Ltd.

248. Peters Creameries Pty., Ltd.

249. Wingham Rural Co-op. Society, Ltd.

CLASS 13-Dried Butter Milk. Packed for export in two UNBRANDED packages (Polyethylene bags to be supplied by the Society) each containing not less than 71b. net weight. One bag shall be used for display purposes. Each exhibit to contain not more than 7 per cent moisture. Prizes-First, £6; second, £2; third, £1.

250. Casino Co-op. Dairy Society, Ltd.

251. Co op. Dairy Assoc. of N.S.W., Ltd.

252. Drouin Co-op. Butter Factory 170, Ltd.

253. Grafton Co-op. Dairy Co., Ltd.

254. Hawkesbury Agricultural College.

255. Manning River Co-op. Dairy Society, Ltd

256. Peters Creameries Pty., Ltd.

257. Tooralac Milk Products Pty., Ltd.

### MOST SUCCESSFUL EXHIBITOR IN DRIED MILK CLASSES.

(See conditions at head of Section).

(Special Prize)-£5 or a Cup or Trophy, for the most successful exhibitor in any three of the foregoing classes (Classes 9 to 13). order to obtain cheese.

### CHEESE.

Steu ards: Judges: H. Perrott (Export): B. F. Hussey R. C. Hottes, Department of Primary Industry. Margaret-st., Sydney.

O. K. Belford. Department of Primary Industry. Margaret-st., Sydney.

(Local Consumption): H. E. Silversides. Department of

C. E. Chapman G. P. Fisher

I. Bourne

Agriculture, N.S.W.,

One or more entries may be made by exhibitors but only one prize to be awarded to individual exhibitors in any one class other than for Class

Judging to commence on Monday, 4th April, at Waterside Cold Stores Pty., Ltd.

Exhibits in cheese classes other than export, must conform to the following:-

(a) Each Cheddar Cheese other than loaf, shall weigh approximately 80lb. or 40lb.

(b) Each Cheese 80lb. or 40lb. shall be rimless unless otherwise specified.

(c) Each Loaf or Block cheese shall weigh between 9lb, and 15lb.

(d) The height of an 80lb. and 40lb. cheese shall be approximately 12; and 6; inches, respectively.

(e) Cheese shall have a diameter of approximately 7 inches for 10lb. loaf; 7% inches for 14lb. Loaf; 141 inches for 40lb. or 80lb.

(f) Unless otherwise specified, where wax is used, same must be of a transparent nature.

(g) Date mark.

## SCALE OF POINTS FOR JUDGING.

Points. FLAVOUR: Mild and rich .. 50 TEXTURE AND COLOUR: Firm, close texture and clear, bright colour .. .. 80 FINISH: Should be neat, attractive and of clean commercial appearance .. 20 Total ... 100

The brands on all exhibits will be covered with paper or cloth, Exhibits will be delivered from 9 a.m. on Wednesday, 20th April.

Each factory must supply agent with delivery

### ALWAYS CHEAPER AT COLES

## Sec. 11-DAIRY PRODUCE-Cheese (Continued).

### CHEESE FOR EXPORT.

CLASS 14-Two Cheeses packed as for export in one crate, each cheese to weigh approximately 80lb, net. Packing and crating to be in accordance with Exports Dairy Produce Regulations with the exception that ends of crate shall be unbranded. Each cheese shall be stamped on the side with the date of manufacture and number of the vat and shall be not less than four weeks nor more than eight weeks old at time of judging, Prizes-First, £7 10s.; second, £3 15s.; third, £1 10s.

258. Drouin Co-op. Butter Factory Co., Ltd. 259. Girgarre Cheese Co. Pty., Ltd.

260. Maryborough Co-op. Dairy Assoc., Ltd. (Tansey). 261. Mount Tyson Co-op. Dairy Assoc., Ltd. 262. Murray Valley Co-op, Dairy Products and

Trading Co., Ltd. 263. South Australian Farmers' Co-op. Union.

Ltd. (Glencoe West). 264. South Australian Farmers' Co-op. Union, Ltd. (Moorak).

265. South Australian Farmers Co-op. Union, Ltd. (Murray Bridge).

266. South Australian Farmers' Co-op. Union, Ltd. (Woodside).

CLASS 15-Three Cheeses packed as for export in one crate, each cheese to weigh approximately 40lb, net. Packing and crating to be in accordance with Exports Dairy Produce Regulations with the exception that ends of crate shall be unbranded. Each cheese shall be stamped on the side with the date of manufacture and vat number and shall be not less than four weeks nor more than eight weeks old at time of judging. Prizes-First, £7 10s.; second, £3 15a.; third, £1 10a.

267. Drouin Co-op. Butter Factory Co., Ltd. 268. Maryborough Co-op. Dairy Assoc., Ltd. (Tansey).

269. Mount Tyson Co-op. Dairy Assoc., Ltd. 270. Murray Valley Co-op. Dairy Products and

Trading Co., Ltd. 271. | South Australian Farmers' Co-op. Union, Ltd. (Glencoe West).

272. South Australian Farmers' Co-op. Union, Ltd. (Moorak).

273. South Australian Farmers' Co-op. Union, Ltd. (Murray Bridge).

274. South Australian Farmers' Co-op. Union. Ltd. (Woodside).

## CHEESE FOR LOCAL CONSUMPTION.

Entries in Classes 16 to 19 inclusive and Class 23 will also be accepted if packed in Cryovac, plastic, or other recognised wrapping.

CLASS 16-Two Cheeses, matured, LOAF or BLOCK, approximately 9lb. to 15lb. Prizes-First, £7 10s.; second, £3 15s.; third, £1 10s.

275. Bega Co-op, Society, Ltd.

276. Bodalla Co-op. Cheese Society, Ltd.

277. Buckajo Cheese Factory

Drouin Co-op. Butter Factory Co., Ltd.

Erinna Co-op. Cheese Society, Ltd.

280. Girgarre Cheese Co. Pty., Ltd.

281.7 Hawkesbury Agricultural College. 282. Macleay River Co-op. Dairying Co., Ltd.

Manning River Co-op. Dairy Society, Ltd. Maryborough Co-op. Dairy Assoc., Ltd.

(Tansey). 285. Moruya Co-op. Dairy Society, Ltd.

Mount Tyson Co-op. Dairy Assoc., Ltd.

287. Murray Valley Co-op. Dairy Products and Trading Co., Ltd.

288. Norco Co-op., Ltd. (Lismore).

### CLASS 17-Two Cheeses, matured, LARGE, each weighing between 36lb. and 44lb. Prizes-First, £7 10s.; second, £3 15s.; third, £1 10s.

Bodalla Co-op. Cheese Society, Ltd.

290. Drouin Co-op. Butter Factory Co., Ltd.

Erinna Co-op. Cheese Society, 1.td. Girgarre Cheese Co. Pty., Ltd.

293.3 Hawkesbury Agricultural College.

294.2 Macleay River Co-op. Dairying Co., Ltd. 295. Maryborough Co-op. Dairy Assoc., Ltd. (Tansey).

Moruya Co-op. Dairy Society, Ltd.

Mount Tyson Co-op. Dairy Assoc., Ltd. 298. Murray Valley Co-op. Dairy Products and

Trading Co., Ltd. 299. Norco Co-op . Ltd. (Lismore).

CLASS 18-Two Cheeses, LARGE, each weighing between 36lb, and 44lb., not more than 6 weeks old. Prizes-First, £7 10s.; second, £3 15s.; third, £1 10s.

300. Bodalla Co-op. Cheese Society, Ltd.

Drouin Co-op. Butter Factory Co., Ltd.

Erinna Co-op. Cheese Society, Ltd.

303. Girgarre Cheese Co. Pty., Ltd.

3043 Hawkesbury Agricultural College.

305. Macleay River Co-op. Dairying Co., Ltd. 306 Maryborough Co-op. Dairy Assoc., Ltd. (Tansey).

307. Moruya Co-op. Dairy Society, Ltd.

308. Mount Tyson Co-op. Dairy Assoc., Ltd.

Murray Valley Co-op. Dairy Products and Trading Co., Ltd

310. | Norco Co-op, Ltd. (Lismore).

CLASS 19-Two Cheeses, LOAF or BLOCK, approximately 9lb. to 15lb., not more than 6 weeks old. Prizes-First, £7 10s.; second, £3 15s; third, £1 10s.

311. Bega Co-op Society, Ltd.

Bodalla Co-op. Cheese Society, Ltd. 312.

Buckajo Cheese Factory.

Drouin Co-op. Butter Factory Co., Ltd

315. Erinna Co-op. Cheese Society, Ltd. 316. | Girgarre Cheese Co. Pty., Ltd.

317. Hawkesbury Agricultural College.

318. 2 Macleay River Co-op. Dairying Co., Ltd

321. Moruya Co-op. Dalry Society, Ltd.

322. Mount Tyson Co-op. Dairy Assoc., Ltd.

323. Murray Valley Co-op. Dairy Products and Trading Co., Ltd.

324. Norco Co-op., Ltd. (Lismore).

CLASS 20-Two Cheeses, BLUE VEINED. Prizes-First, £5; second, £2; third, £1.

325 Girgarre Cheese Co. Pty., Ltd.

326. Hawkesbury Agricultural College.

327. Norco Co-op., Ltd. (Lismore).

CLASS 21-Two Cheeses, PROCESSED CHED-DAR in half (1) lb. blocks or cartons. Prizes-First, £5; second, £2; third, £1.

328. Mount Tyson Co-op. Dairy Assoc., Ltd.

329. Norco Co-op., Ltd. (Lismore).

CLASS 22-Two Cheeses, any one variety, other than Cheddar or Blue Veined types. To be exhibited as two complete cheeses, or two 5lb. blocks, Prizes-First, £5; second, £2: third, £1. An exhibitor may be awarded more than one prize in this class provided the prizes are awarded to distinct varieties of Cheeses.

330. Girgarre Cheese Co. Pty., Ltd.

331.2 Hawkesbury Agricultural College.

332. Norco Co-op., Ltd. (Lismore).

### CHEESEMAKERS' COMPETITION.

CLASS 23-(Special Prizes)-First, £8; second, £4: third, £2. For the maker of the best Cheddar Loaf Cheese approximately 10lb. to 14lb. manufactured and packed ready for storage for local consumption. The Cheese shall be not less than 12 weeks old at time of judging. It shall carry marks at centre of side surface in rubber stamp or stencil figures indicating date of manufacture. A factory or branch factory may be represented by one maker only.

The entry is to be made in the name of the maker of the Cheese. The name of the factory for which the competitor is making must be stated on the certificate of entry but shall not be disclosed till after judging.

333. Bateman, W. J.

337. Northam. H. G. 338. Parbury, K 334. Hughes, A J.

339. Smith, G. F. 335. Leslie, J. 336. Mann, V. T.

MOST SUCCESSFUL CHEESEMAKER (See conditions at head of Section).

(Special Prize)-£5 or a Cup or Trophy, for the

maker of the cheese exhibited by the most HAWKESBURY HERIEULTURAL COLLEGE auccessful exhibitor. G.P. FISHER.

HAMS, BACON, AND LARD.

Indge:

G. M. D. Carse,

Department of Agriculture, N.S.W. Sydney.

One or more entries may be made by exhibitors in each class but only one prize to be awarded to individual exhibitors in any one class.

ALL EXHIBITS TO BE UNBRANDED (GOV-ERNMENT BRANDS EXCEPTED) AND IN UNBRANDED WRAPPERS, and must be in position not later than 5 p.m. on Wednesday, 6th April. Exhibits will not be received after this date. Exhibits will be cut not more than 24 hours before judging.

Exhibits will be delivered from 9 a.m. on Wednesday, 20th April. Each factory must supply agents with delivery order to obtain exhibits.

No exhibit to be scraped or trimmed in any way whilst in the possession of the Society, except with the written approval of the Director; any violation of this rule will disqualify the exhibit.

All exhibits in the Ham and Bacon classes must have been cured by and on the premises of the factory making the entry.

SCALE OF POINTS FOR JUDGING. HAMS (OTHER THAN CANNED) AND BACON.

FLAVOUR: Should be sweet and mild .. 30 COLOUR: Should be natural and even throughout .. .. .. .. 20

PROPORTION OF FAT AND LEAN: Should be nicely mixed with lean pre-.. .. .. 20 dominating

TEXTURE AND FIRMNESS: Should be fine in grain and firm for cutting .. .. 10

CONFORMATION: Shoulders should be fine in bone. Middles should be lengthy and straight in lines. Hams should be plump and fine in bone

FINISH! Should be smooth, bright, and neatly cut, with smoking not too dark ... 10

### IT'S ALWAYS CHEAPER AT COLES

Sec. 11-DAIRY PRODUCE-Hams, Bacon, and Lard (Continued).

CANNED HAMS

FLAVOUR ... 50 PROPORTION FAT TO LEAN . . . 10 TEXTURE .. .. .. .. .. 10 COLOUR .. .. .. .. .. .. 10 PACKING .. 20 .. .. .. .. .. 100

LARD.

Points FLAVOUR .. .. 40 COLOUR .. .. .. .. TEXTURE .. .. .. FINISH AND APPEARANCE .. .. .. .. .. 100

CLASS 26-Hams, two, factory cured and smoked. Prizes-First, £5; second, £3; third, £2.

340. Barnes Bacon Co. Pty., Ltd.

341. Bellinger River Co-op. Butter and Bacon Soclety, Ltd.

342. Dorrigo Co-op. Dairy Co., Ltd.

343. Grafton Co-op. Dairy Co., Ltd

344./ Merimbula Co-op, Bacon Society, Ltd.

345.5 Norco Co-op., Ltd. (Byron Bay)

346. Riverstone Meat Co. Pty., Ltd. 347. Silvester Bros. Pty., Ltd.

348. Silvester Bros. Pty., Ltd.

CLASS 27-Bacon, two sides, factory cured and smoked. Prizes-First, £5; second, £3; third, £2,

349. Barnes Bacon Co. Pty Ltd.

350. Bellinger River Co-op. Butter and Bacon Society. Lta

351. Conkey and Sons Ltd.

352. Dorrigo Co-op. Dairy Co., Ltd.

353. Grafton Co-op. Dairy Co., Ltd.

354. Merimbula Co-op. Bacon Society, Ltd.

355. Norco Co-op., Ltd. (Byron Bay).

356. Riverstone Meat Co. Pty., Ltd.

Ed 357.2 Silvester Bros. Pty., Ltd.

358. Silvester Bros. Pty., Ltd.

CLASS 28—Bacon, two flitches, factory cured and smoked. Prizes-First, £5; second, £3; third, £2.

359. Barnes Bacon Co. Pty, Ltd.

360.] Bellinger River Co-op. Butter and Bacon Society, Ltd.

361. Conkey and Sons, Ltd.

362. Dorrigo Co-op. Dairy Co., Ltd.

363. Grafton Co-op. Dairy Co., Ltd.

364. Merimbula Co-op. Bacon Society, Ltd.

365. Norco Co-op , Ltd. (Byron Bay).

366. Riverstone Meat Co. Pty., Ltd.

367. Silvester Bros. Pty., Ltd.

368. Silvester Bros. Pty., Ltd.

CLASS 29-Bacon, two middles, factory cured and smoked. Prizes-First, £5; second, £3; third, £2.

369. Barnes Bacon Co. Pty., Ltd.

370. Bellinger River Co-op. Butter and Bacon Soclety, Ltd.

371,2 Conkey and Sons, Ltd.

372. Dorrigo Co-op. Dairy Co., Ltd.

373. Grafton Co-op. Dairy Co., Ltd.

374. Merimbula Co-op. Bacon Society, Ltd.

375. Norco Co-op., Ltd. (Byron Bay).

376. Riverstone Meat Co. Pty., Ltd.

377. Silvester Bros. Pty., Ltd.

378. Silvester Bros. Pty., Ltd.

CLASS 30 Canned Hams, two, in containers not less than 4lb., and not exceeding 12lb., one to be opened for judging. Prizes-First. £5; second, £3; third, £2.

379. Barnes Bacon Co. Pty., Ltd.

CLASS 31-Canned Shoulders, two, in containers, not less than 4lb., and not exceeding 12lb., one to be opened for judging. Prizes-First, £5; second, £3; third, £2,

(No Entry).

CLASS 32-Lard, 56lb. box. Prizes-First, £3: second, £2; third, £1.

380. | Dorrigo Co-op. Dairy Co , Ltd.

381. Grafton Co-op. Dairy Co., Ltd. 382. Norco Co-op., Ltd. (Byron Bay).

383. Riverstone Meat Co. Pty., Ltd.

MOST SUCCESSFUL BACON CURER. (See conditions at head of Section).

(Special Prize)-£5 or a Cup or Trophy, for the curer of the bacon exhibited by the most successful exhibitor in Classes 26 to 29.

A Member of the Clyde Industries Group of Companies.

## Index to Exhibitors

### Section 11.—DAIRY PRODUCE.

- Ltd (Crow's Nest), P.O. Box 209, Toowoomba, Q'ld.
- BARNES BACON CO PTY, LTD., PO Box 3, Homebush, NSW
- Barron, V., c/o, Downs Co-op. Dairy Assoc., Ltd., PO Box 209, Toowoomba, Q'ld.
- Bateman, W J., c/o. Buckajo Cheese Factory P.O. Box 205, Bega, NSW
- Bega Co-op Society, Ltd., P.O. Box 123, Bega, NSW
- Bellinger River Co-op Butter and Bacon Society, Ltd., P.O. Box 28, Bellingen, N.S.W.
- Bodalla Co-op Cheese Society, Ltd., Bodalla, N.S.W.
- Ltd, Kempsey, N.S.W
- NSW.
- Box 22, Casino, NSW
- Cisrence River Pioneer Co-op Dairy Co., Ltd., Hughes, A J., c/o. Murray Valley Co-op. Dairy P.O. Box 7. Ulmarra, NSW
- Cobargo Co op Socie y, Ltd., P.O. Box 1, Cobargo, N.S.W.
- Comboyne Rural Co-op. Society, Ltd Comboyne. NSW
- Conkey and Sons, Ltd., Sutton-st., Cootamundra, N.S.W
- Co-op Dairy Ansoc, of NSW, Ltd. Raleigh N.S.W
- Cork. L. G. c/o. Casir o Co-op Dairy Society. Ltd. P.O Box 22, Casino N.S.W.
- DORRIGO CO OP DAIRY CO, LTD. P.O. Box 13, Dorrigo N.S W
- Downs Co-op. Dairy Assoc., Ltd (Clifton), P.O. Box 209, Toowoomba, Q'ld.
- Downs Co-op Dairy Assac., Ltd. (Crow's Nest), PO Box 209, Toowoomba, Q'ld
- Downs Co-op. Dairy A oc., Ltd. (Jandowae), P.O. Box 209, Toowoomba, Q'ld.
- Downs Co.-op Dairy Ans c., Ltd (Toowoomba), P.O. Box 209, Toowoomba, Q'ld.
- Drouin Co-op Butter Factory Co., Ltd., Drouin, Vic.
- Dunning. W. J., c/o South Wolumla Co-op. Creamery Co., Ltd., South Wolumla, NSW
- ERINNA CO-OP CHEESE SOCIETY, LTD, Maryborough Co-op. Dairy Assoc., Ltd. (Tansey), PO. Box 29 Bega. N.S.W.

- ASTBURY, K., c/o. Downs Co-op. Dairy Assoc., GIRGARRE CHEESE CO. PTY, LTD., 177 Victoria-pde., Collingwood, Vic.
  - Gloucester Co-op. Dairy Co., Ltd., P.O. Box 30, Gloucester, N.S.W.
  - Grafton Co-op. Dairy Co., Ltd., P.O. Box 1, Grafton, N.S.W.
  - Green, A., c/o. Norco Co-op., Ltd. (Byron Bay), P.O. Box 73, Byron Bay, N.S.W.
  - Griggs, B. c/o. Hawkesbury Agricultural College, Richmond, NSW
  - HALL, J., c/o. Bellinger River Co-op. Butter and Bacon Society, Ltd., P.O. Box 28, Bellingen, N.S.W.
  - Hanford, G., c/o. Downs Co-op. Dairy Assoc., Ltd. (Clifton), P.O. Box 209, Toowoomba, Q'ld.
- Brett. T., c/o. Macleay River Co-op. Dairying Co.. Hawkesbury Agricultural College, School of Dairy Technology, Richmond, N.S.W.
- Buckajo Cheese Factory, P.O. Box 205, Bega. Hewitt, L. T., c/o. Murray Valley Co.-op. Dairy Products and Trading Co., Ltd., P.O. Box 99, Cobram, Vic.
- CASINO CO-OP DAIRY SOCIETY, LTD. P.O Howlett, S. B., c/o. Nowra Co-op. Dairy Co., Ltd. Bomaderry, N.S.W.
  - Products and Trading Co., Ltd., P.O. Box 99 Cobram. Vic.
  - Hunter Valley Co-op. Dairy Co., Ltd., (Hexham), Hexham. NSW
  - Hunter Valley Co-op. Dairy Co., Ltd. (Muswellbrook), Hexham, N.S.W.
  - JARVIS, A. c/o. Pambula Co-op. Creamery and Dairy Co., Ltd., Pambula, NSW.
  - KENNETT, F. G., c/o. Comboyne Rural Co-op. Society, Ltd., Comboyne, N.S.W.
  - LESLIE, J., c/o. Norco Co-op., Ltd. (Linmore). P.O. 73, Byron Bay, N.S.W.
  - McCARTHY, E. c/o. Wingham Rural Co-op. Society, Ltd., Primrose-st., Wingham,
  - McIntyre, J., c/o. Norco Co-op., Ltd. (Lismore), P.O. Box 78, Byron Bay, N.S.W.
  - Macleay River Co-op. Dairying Co., Ltd., Kempsey, N.S.W.
  - Mann. V. T., c/c. Mount Tyson Co-op. Dairy Assoc., Ltd., Mount Tyson, Oakey, Q'ld.
  - Manning River Co-up. Dairy Society, Ltd., P.O. Box 225, Taree, NSW.
  - Maryborough Co-op Dairy Assoc., Ltd. (Kingaroy), P.O. Box 104, Maryborough, Q'ld.
  - P.O. Box 104, Maryborough, Q'ld.

- Maryborough Co-op. Dairy Assoc., Ltd. (Wondal), RAWSON, J. G., c/o. Maryborough Co-op. Dairy P.O. Box 104, Maryborough, Q'ld.
- Merimbula Co-op. Bacon Society, Ltd., P.O. Box 6, Merimbula, N.S.W.
- Moruya Co-op. Dairy Society, Ltd., Moruya, N.S.W
- Mount Tyson Co-op. Dairy Assoc., Ltd., Mount Tyson, Oakey, Q'ld.
- Moy, R., c/o. Peters Creameries Pty., Ltd., P.O. Box 103, Taree, N.S.W.
- Murray Valley Co-op. Dairy Products and Trading Co., Ltd., PO Box 99, Cobram.
- NAMBUCCA RIVER CO-OP. SOCIETY, LTD. P.O. Box 15, Macksviile, NSW
- Noonan, J., c/o. Nambucca River Co-op. Society, Ltd., P.O. Box 15, Macksville, N.S.W.
- Noonan, J. O., c/o. Norco Co-op., Ltd. (Kyogle), P.O. Box 73, Byron Bay, NSW
- Norco Co-op., Ltd. (Bonalbo), P.O. Box 73, Byron Bay, N.S.W.
- Norco Co-op., Ltd. (Byron Bay), P.O. Box 73, Byron Bay, N.S.W.
- Norco Co-op., Ltd. (Kyogle), P.O. Box 73, Byron Bay, N.S.W.
- Norco Co-op., Ltd. (Lismore), P.O. Box 73, Byron Bay, N.S.W.
- Norco Co-op., Ltd (Murwillumbah), P.O. Box 73, Byron Bay, N.S.W.
- Northam, H. G., c/o. Manning River Co-op. Dairy Society, Ltd., P.O. Box 255, Taree, N.S.W.
- North Eastern Dairy Co., Ltd., Kiewa, Vic.
- Nowra Co-op. Dairy Co., Ltd., Bolong-rd., Bomaderry, N.S.W.
- O'CONNOR. W. P., c/o. Grafton Co-op. Dairy Co., Ltd., P.O. Box 1, Grafton, N.S.W.
- PAMBULA CO-OP. CREAMERY CO., LTD., Pambula, N.S.W.
- Parbury K., c/o. Bodalla Co-op. Cheese Society, Ltd., Bodalla, N.S.W.
- N.S.W.
- Pollock, J., c/o. Gloucester Co-op. Dairy Co., Ltd., P.O. Box 30, Gloucester, N.S.W.
- Port Curtis Co-op. Dairy Assoc., Ltd., P.O. Box 45, Monto, Q'ld.

- Assoc., Ltd. (Kingaroy), P.O. Box 104, Maryborough, Q'ld.
- Rennick, H., c/o. Downs Co-op. Dairy Assoc., Ltd. (Jandowae), P.O. Box 209, Toowoomba,
- Riverstone Meat Co. Pty., Ltd., Riverstone, N.S.W.
- Russell, T. E., c/o. Maryborough Co-op. Dairy Assoc., Ltd (Wondai), P.O. Box 104. Maryborough, Q'ld
- Ryan, D., c/o. Clarence River Pioneer Co-op. Dairy Co., Ltd., P.O. Box 7, Ulmarra, N.S.W.
- SHAW, P., c/o. Dorrigo Co-op. Dairy Co., Ltd., P.O. Box 13, Dorrigo, N.S.W.
- Silvester Bros. Pty., Ltd., P.O. Box 35, Redfern, N.S.W.
- Smith, G F, c/o. Maryborough Co-op Dairy Assoc., Ltd. (Tansey), P.O. Box 104, Maryborough, Q'ld.
- Smith, K. P., c/o. Cobargo Co-op. Society, Ltd., P.O. Box 1, Cobargo, N.S.W.
- South Australian Farmers' Co-op. Union, Ltd. (Glencoe West), Box 355D, G.P.O., Adelaide.
- South Australian Farmers' Co-op. Union, Ltd. (Moorak), Box 355D, G.P.O., Adelaide.
- South Australian Farmers' Co-op. Union, Ltd. (Murray Bridge), Box 355D, G.P.O., Adelaide
- South Australian Farmers' Co-op. Union, Ltd. (Woodside), Box 355D, G.P.O., Adelaide.
- South Wolumla Co-op. Creamery Co., Ltd., South Wolumla, N.S.W.
- Squelch, C., c/o. Norco Co-op., Ltd. (Bonalbo), P.O. Box 73, Byron Bay, NSW
- TOORALAC MILK PRODUCTS PTY., LTD., Toora. Vic.
- UPPER MACLEAY CO-OP. DAIRYING CO., LTD., Toorooka, Kempsey, N.S.W.
- WALKER, S. N., c/o. Bega Co-op. Society, Ltd., P.O. Box 123, Bega, N.S.W.
- Peters Creameries Pty., Ltd., P.O. Box 103, Taree, Wheeldon, J. H., c/o. Upper Macleay Co-op. Dairying Co., Ltd., Toorooka, Kempsey, N.S.W.
  - Williams, C. V., c/o. Norco Co-op., Ltd. (Murwillumbah), P.O. Box 73, Byron Bay,
  - Wingham Rural Co-op. Society, Ltd., Primrose-st., Wingham, N.S.W.